
Appendix B

α1 =
3

4
b3[(2− κ2)A2

X − A2
Z ],

γ1 =
3

4
b3A

2
X(2 + κ2),

γ2 =
3

4
b3A

2
Z ,

β1 =
3

2
b3κA

2
X ,

δ1 =
3

2
b3AXAZ ,

ρ20 =− α1

α + 2b2
,

ρ21 =
4λβ1 − γ1(4λ

2 + α− b2)

(4λ2 + α)2 + 4λ2(b2 − 4) + b2(α− 2b2)
,

ρ22 =
−γ2(4λ2 + α− b2)

(4λ2 + α)2 + 4λ2(b2 − 4) + b2(α− 2b2)
,

σ21 =
4λγ1 − β1(4λ

2 + α + 2b2)

(4λ2 + α)2 + 4λ2(b2 − 4) + b2(α− 2b2)
,

σ22 =
4λγ2

(4λ2 + α)2 + 4λ2(b2 − 4) + b2(α− 2b2)
,

κ21 =− δ1
3λ2

,

κ22 =
δ1
λ2
,

ν1 =− 3

2
b3[AX(2(2ρ20 + ρ21) + κσ21) + AZ(κ21 + κ22)]

+ 2b4

(
−3

4
A3

X(2− κ2) +
3

2
AXA

2
Z

)
,

159



Appendix B.

γ3 =
3

2
b3AX(κσ21 − 2ρ21)−

1

2
b4A

3
X(2 + 3κ2),

γ4 =
3

2
b3(κAXσ22 − 2AXρ22 + AZκ21)−

3

2
b4AXA

2
Z ,

γ5 =
3

2
b3(AZκ22 − 2AXρ22 − κAXσ22)−

3

2
b4AXA

2
Z ,

ν2 =
3

2
b3AX(σ21 + κ(ρ21 − 2ρ20))−

3

8
b4(κA

3
X(4− 3κ2)− 2κAXA

2
Z),

β2 =
3

2
b3AX(σ21 − κρ21)−

3

2
b4κA

3
X

(
1 +

1

4
κ2
)
,

β3 =
3

2
b3AX(σ22 − κρ22)−

3

8
b4κAXA

2
Z ,

β4 =
3

2
b3AX(σ22 + κρ22) +

3

8
b4κAXA

2
Z ,

ν3 =
3

2
b3(AX(κ21 + κ22)− AZ(2ρ20 − ρ22))−

3

2
b4

(
2A2

XAZ − 1

2
κ2A2

XAZ − 3

4
A3

Z

)
,

δ2 =− 3

2
b3AZρ22 −

3

8
A3

Zb4,

δ3 =
3

2
b3(κ21AX − ρ21AZ)−

3

2
b4A

2
XAZ

(
1 +

1

4
κ2
)
,

δ4 =− 3

2
b3(κ22AX − ρ21AZ) +

3

2
b4A

2
XAZ

(
1 +

1

4
κ2
)
,

u1 =− 3

2
b3

{
3b3(κ

2 − 2)

α + 2b2
+

12λκb3 − 3
2
b3(κ

2 + 2)(4λ2 + α− b2)

(4λ2 + α)2 + 4λ2(b2 − 4) + b2(α− 2b2)

+
3λκb3(2 + κ2)− 3

2
b3κ

2(4λ2 + α + 2b2)

(4λ2 + α)2 + 4λ2(b2 − 4) + b2(α− 2b2)

}
+

3

2
b4(κ

2 − 2),

u2 =− 3

2
κb3

{
3λb3(2 + κ2)− 3

2
κb3(4λ

2 + α + 2b2)

(4λ2 + α)2 + 4λ2(b2 − 4) + b2(α− 2b2)

+
6λκ2b3 − 3

4
b3κ(2 + κ2)(4λ2 + α− b2)

(4λ2 + α)2 + 4λ2(b2 − 4) + b2(α− 2b2)
+

3
2
b3(2− κ2)κ

α + 2b2

}
+

3

8
κ2b4(4− 3κ2),

u3 = − 3

2
b3

(
3b3

α + 2b2
+
b3
λ2

)
+ 3b4,

u4 =
3

2
b3

( 3
2
b3κ

2

α + 2b2
− 3

4
κ2b4

)
,

u5 =
3

2
b3

(
− 3b3

2λ2
−

3
2
b3(4λ

2 + α− b2)

(4λ2 + α)2 + 4λ2(b2 − 4) + b2(α− 2b2)

+
3κλb3

(4λ2 + α)2 + 4λ2(b2 − 4) + b2(α− 2b2)

)
+

3

2
b4,

u6 =
3

2
κb3

(
3λb3 − 3

4
κb3(4λ

2 + α− b2)

(4λ2 + α)2 + 4λ2(b2 − 4) + b2(α− 2b2)

)
+

3

8
κ2b4,

160



Appendix B.

s1 =
1

2λ(λ(κ2 + 1)− 2κ)
(u1 + u2),

s2 =
1

2λ(λ(κ2 + 1)− 2κ)
(u3 + u4 + u5 + u6),

u7 =
3

2
b3

(
b3
λ2

+
3
2
b3(2− κ2)

α + 2b2

)
− 3

2
b4

(
2− 1

2
κ2
)
,

u8 =− 3

2
b3

(
3

2λ2
b3 +

−6λκb3 +
3
4
b3(2 + κ2)(4λ2 + α− b2)

(4λ2 + α)2 + 4λ2(b2 − 4) + b2(α− 2b2)

)
+

3

2
b4

(
1 +

1

4
κ2
)
,

u9 =− 3

2
b3

( 3
2
b3

α + 2b2
+

3
4
b3(4λ

2 + α− b2)

(4λ2 + α)2 + 4λ2(b2 − 4) + b2(α− 2b2)

)
+

9

8
b4,

l1 =2λ2s1 + u7 − u8,

l2 =2λ2s2 + u9,

ρ31 =
6λ(β2 − β3) + (b2 − α− 9λ2)(γ3 − γ4)

(9λ2 + α)2 + 9λ2(b2 − 4) + b2(α− 2b2)
,

σ31 =
6λ(γ3 − γ4)− (9λ2 + α + 2b2)(β2 − β3)

(9λ2 + α)2 + 9λ2(b2 − 4) + b2(α− 2b2)
,

σ32 =− κβ5
2λ

,

κ31 =
δ2 − δ3
8λ2

.

161


	Appendix 

